IM – EUA (modified) 		Name ___________________________
Unit 2 – Rational Functions
Solve the following.
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4. Find all values of x that make the equation true.
3 x=5
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5. Kiran and Mai are trying to figure out if this equation is an identity:

(a=b)* = a* —4a’b + 64°b* — 4ab® + b*

Kiran picks several different values for a and b to test. For each pair he tries, the left
side and the right side have the same value. Since his tests all worked, Kiran thinks
the equation is an identity.

Mai started by using the distributive property on the expression on the left side.
She then arranged the result to look the same as the right side. Since she can write
both sides the same way, Mai thinks the equation is an identity.

Who do you think had a better argument for why the equation is an identity? Explain
your reasoning.
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6. A plane is going to fly 300 miles at a planned speed of 530 mph. The flight will have
an average headwind of w miles per hour the entire time, meaning the plane is flying
directly against the wind. The time 7, in hours, of the flight s a function of the speed
of the headwind w, in mph, and can be modeled by

300

=5

T(w):
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a. What does T(110) mean in this situation?

b. Atwhat value of w does the graph have a vertical asymptote? Explain how you
know and what this asymptote means in the situation.
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1. Select the expression that is equivalent to 2L forx # -3 or 0.
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3. Which figure below is a graph of r(x) = 2 + <12
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